# VirtuLearn

TRUSTED, ACCURATE AND
RELIABLE!

The most comprehensive IT certification
preparation materials in the industry!

All rights reserved. No part of this document may be reproduced, distributed, or transmitted in any form or by any means, including
photocopying, recording, or other electronic or mechanical methods, without the prior written permission of the publisher, except in the case

of brief quotationsiembodied in critical reviews and certain other non-commercial uses permitted by copyright law. Unauthorized copying,
reselling, or distribution of this document is strictly prohibited and may result in legal action.

https://www.virtulearner.com
support@virtulearner.com



Nutanix
NCA-v6.10
Nutanix Certified Associate
v6.10



NCA-V6.10

QUESTION: 1
An administrator wants to apply tags to licenses to simplify future renewals.

What interface would be used to complete this operation?

A. Clusters in the Support Portal

B. License Inventory in the Support Portal
C. Prism Central Licensing

D. Prism Element Licensing

Answer(s): C

QUESTION: 2
An administrator is conducting updates in a Nutanix cluster and is being prompted for handling
non- migratable VMs.

Which VM type is non-migratable?

A. VMs without NGT

B. VMs marked as an Agent

C. Memory Overcommitted

D. VMs O VMs with attached Volume Groups

Answer(s): D

QUESTION: 3
An administrator receives the alert:

What is the most likely cause?

A. Other nodes in the cluster may not have enough resource available.
B. Another node in this cluster is already in maintenance mode.

C. This node in the cluster is already in maintenance mode.

D. This node in the cluster may not have enough resources available.

Answer(s): B

QUESTION: 4
When multiple Alert policies are applied to an entity, which will take precedence?

A. Policy are applied to a specific entity type.

B. Policy are applied to all entities of an entity type.
C. Policy are applied to an entity type in a category.
D. Policy are applied to an entity type in a cluster.

Answer(s): A

QUESTION: 5
On a newly-deployed AHV cluster, what is the default virtual switch (vs0) uplink bond type?
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A. Balance-SLB
B. Active-Backup
C. Balance-TCP
D. No Uplink Bond

Answer(s): B

QUESTION: 6
Which storage protocol is supported for a datastore when using ESXi as the hypervisor within a
Nutanix cluster?

A.iSCSI
B. SMB
C.LVM
D. NFS

Answer(s): D

QUESTION: 7
An administrator needs to create a VM Template from an existing VM.

What is required for this action to be successful?

A. Sysprep or Cloud-init script.
B. The VM is powered on.

C. Windows OS is installed.
D. The VM is powered off.

Answer(s): D
QUESTION: 8
An administrator is performing AHV upgrades on an 8-node cluster configured with Redundancy

Factor 3.

How many nodes would be placed into maintenance mode simultaneously?
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Answer(s): C

QUESTION: 9

Which Nutanix Disaster Recovery component or feature provides the best Recovery Time
Objective (RTO)?

A. Async
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